ECS 452: In-Class Exercise # 5

Instructions Date: 09 /02 /2018
1. Separate into groups of no more than three persons. The group cannot be the same Name I D (last 3 digits)
as any of your former groups. Only one submission is needed for each group.
2. WriteydovtnaIIthesteisth’;tyouiavedonetoobtainyouranswers.Yiu mpaynotget Prapun 5 5 5
full credit even when your answer is correct without showing how you get your
3. aDZS:\v:: .panic.
1. No need to provide any explanation for this question.
Consider a DMC whose samples of input and output are provided below
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Estimate the following quantities:
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